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Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 1

Q1 \Which part of speech is the underlined word in the phrase
‘decisively influenced its course’?

1. Adjective
2. Conjunction
3. Verb
4. Adverb
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 2

Q2 Read the following statements:
A. James Watt was rewarded for his efforts by the state
authorities.
B. Watt’s father wanted him to become a scienfist.

1. Aistrue and B is false.
2. Bis truerand A is false.
3. Both/Aand B are true.
4. Both A'and B are false.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 3
Q3 Which of the following options is true?

1. James Watt's invention of the steam-engine
foreshadows the industrial revolution.
2. James Watt was a traublesome child.
3. The passage tells us about the influence James
Watt's father had on him.
4. James Watt received little encouragement from his
teachers.
Options 1. 1
2.2

3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 4

Q4 wWhich part of the sentence given below contains an error?
She found it difficult to cope up with

(a) (b)
the volume of work assigned to her
(c) (d)
1. (c)
2. (d)
3. (b)
4. (a)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 5

Q5  galect the option which is true according to the passage.
A. James Watt left his mark of creativity on different
fields.
B. James Watt had the ability to improve the function
of any kind of machine.
C. Watt’s parents worried a great deal about his health.
Watt is considered the father of modern science.

©

Ais true and B is false.
Both A and B are false.
Both C and D are true.
A, B and C are all true.

Bwon e

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 6

Q6  Read the following statements and select the correct
option.

A, James Watt's influence was confined to the
invention of the steam engine.

B. James Watt was considered a dullard by his
neighbours.

C. James\Watt's delicate health provedablessing in
disguise.

D. Jlames Watt’s parents were keen to send him abroad.

1. Aistrue and D is false.
2. Bistrue and C is false.
3. Both C and D are true.
4. Cistrue and A is false.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 7

Q7 Which of the following words is the antonym of ‘delicate’
as used in the passage given below?

1. crude
2. robust
3. flawed
4, favourable
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions that follow by
choosing the correct/most appropriate options.

‘He increased the power of man’, reads the epitaph on Watt's grave. No
better words can summarise the importance of the work done by James
Watt, the father of steam-power. His invention of the steam-engine
greatly enhanced the speed of transportation besides paving the way for
other types of energy that were to follow soon. In short, it marked the
opening of the industrial revolution.

James Watt was born on 19 January 1736, in Greenock, near Glasgow, in
Scotland. His father was a master craftsman and merchant engaged in
the shipping trade. Young James thus found himself surrounded by his
father’s tools right from childhood. He took to them like a fish to water
and revelled in constructing things with his own hands. His delicate
health made his parents reluctant to send him to a formal school. This
provided him greater opportunities for self-learning. His skills and
inventiveness became evident at an early age.

The story of James Watt observing the lid of a kettle being lifted up by
steam and inferring the power of steam thereupon is probably
apocryphal. But there is no doubt about his ability, since an early age, to
come up with startling improvements on any machine that he chose to
study.

He was to leave his mark of creativity even on fields not connected with
engineering.

SubQuestion No : 8

Q8  \Which of the following words has the same meaning as the
word ‘evident’ as used in the passage?

1. sufficient
2. clear
3. similar
4. challenging
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Comprehension:

Read the passage given below and answer the guestions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan’.

SubQuestion No : 9
Q9 The passage is.about

1. alesser known figure in the history of India’s
struggle for independence.

2. a well-known figure who waged a war against the
caste system.

3. a person whose struggle was confined to the
abolition of the Zamindari system.

4. aremarkably famous man who fought against the
harsh and authoritarian British regime.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

I am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19™ century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan'.

SubQuestion No : 10

Q10 \what pretext did the Zamindars use to prey.upon the
tribals?

They were preserving ecology.

They were keeping the social fabric intact.

They were preserving the myths of their society.
They were modernising agriculture.

i A

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




Comprehension:

Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan’.

SubQuestion No : 11
Q1 The author presents Birsa Munda as

1. an aggressor.
2. an ambition politician.
3. adisruptionist.
4, a patriot.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Comprehension:

Read the passage given below and answer the guestions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan’.

SubQuestion No : 12

Q12 Read the following statements and select the correct
options.
A, It was difficult for the British government to subdue
Birsa Munda.
B. Birsa Munda wanted to save the tribals from the
greedy Britishers.

1. Ais true and B is false.
2. Bistrue and A is false.
3. Both A and B are false.
4. Both A and B are true.
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered




l Chosen Option : 1

Comprehension:

Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19™ century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan’.

SubQuestion No : 13

Q13 \Which of the following words has the same meaning as the
word ‘indomitable” used in the passage?
1. dominant
2. dictatorial
3. predatory
4. brave
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

| am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19" century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan’.

SubQuestion No : 14

Q14 \which part of the following sentence contains an error?

He told me that he will not come
(a) (b)
because his mother was not keeping well.
(c) (d)
1. (a)
2. (b)
3. (o)
4. (d)
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Comprehension:

Read the passage given below and answer the questions by choosing
the correct/most appropriate option.

I am happy to associate myself with the unveiling of the statue of
Shri Birsa Munda, a legendary figure in the history of our struggle
for freedom. He is well-known as an early advocate and exponent of
tribal rights and as an indomitable fighter against foreign rule and
oppression. One of the lesser known aspects of our fight against
British rule is that tribal uprising constituted an important part of the
defiance of the colonial regime. Birsa Munda is an outstanding
representative of one such movement in the 19™ century in the
Chhotanagpur region, who initiated a unique phase of our freedom
struggle which decisively influenced its course and subsequently
made us deeply conscious of tribal issues vis-a-vis nation building.
Birsa Munda rose from the lowest rank of peasants to mobilise
people against the appropriation of tribal land and disintegration of
their way of life, economy, and culture by the colonial system. He
fought against the predatory tendencies in the name of
modernisation and the oppressive Zamindari system, invoking the
spirit of a tribal order characterised by simplicity, absence of
tyranny, and living in harmony with nature.

He used the myths symbols of his society and culture and became a
rallying point for people to rise against foreign rule, oppression and
injustice. His movement was also infused with the spirit of religious
reform, social justice and cultural regeneration. He fought against
the British rule, suffered imprisonment and subsequently became a
martyr. Through his struggle, he became a cult figure, a part of the
folklore and was even deified by the people as ‘Dharti Abba’ or
‘Birsa Bhagwan'.

SubQuestion No : 15

Q15 Which of the following words is the antonym of the word
‘foreign’ used in para 3 of the passage?
1. distant
2. unjust
3. local
4. native
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2




Q16 \which of the following statements is true of learning languages?

1. Reading develops before writing.

2. Learners need to write before reading.

3. Reading and writing develop concurrently.

4. First language interferes in the learning of second language.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q_1 7  Ateacher brought utensils and toys from home to teach vocabulary in contextual use. What are these materials known
as?

1. Aids

2. Realia

3. Objects of cooking
4. Thematic vocabulary

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.18 Ateacher asks her learners of class IIl to share in their group about the flowers, grass and plant in their neighbourhood
and on their way to school before teaching the poem, Daffodils. What is she trying to do?

1. Expecting learners to bring daffodils from their neighbourhood.
2. Connecting the previous knowledge with the classroom teaching and knowledge.
3. Brain storming activity &

4. Teaching about flowers, landscape for geographical knowledge through poetry.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4




Q.19 Ateacher collects the instances of learning and performances of learners and makes a note of them to report in the
assessment record. What is this assessment process known as?

1. Portfolio assessment

2. Summative assessment

3. Comprehensive assessment
4. Non formal assessment

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.20 Ateacher of class V asks her students to discuss in groups about ‘what they like and what they do not like’ and then to
note down ideas to write in few sentences. Students noted down their ideas, developed an outline and wrote a
paragraph. What would you call this approach to writing?

1. Product approach to writing

2. Process approach to writing

3. Developing notes as a strategy to writing
4. Personal writing

Options 1. 1
2.
3.
4.

A WON

Question Type : MCQ
Status : Answered
Chosen Option : 3

Q21 \What is the status given to Hindi language in the constitution of India?

1. National language
2. Official language
3. Associate official language
4. Classical language b
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option: 1




Q22 Errors of learners during the early years

1. should be corrected then and there
2. should not be corrected at all
3. should be brought to their notice through practice
4. should be corrected through imposition and drills
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.23 Which one of the following ways is appropriate with regard to using stories in language classroom?

1. Using stories for moralizing.
2. Stories for teaching some structures.
3. Story telling as a strategy.
4. Teaching story as concepts.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.24 What does ‘multlingualism as a policy’ mean in school education?

1. All children begin their schooling in their mother tongue/home language and add more languages as they
progress.

2. All children learn in the state language as medium of instruction and learn English and Hindi.

3. All children learn English, state language and Hindi from the foundational stage.

4. Mother tongue as medium for primary level and English as medium for upper primary level.

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1




Q.25 ‘Which of the following methods of language teaching is learning outcomes focused?

1. Mother tongue based language teaching
2. Competency-based language teaching
3. Communicative language teaching
4, Bilingual method of language teaching
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 1

Q.26 Which one of the following is NOT true in language learning?

1. Language skills are transferable from one language to another.
2. Every child has the capacity to learn many languages if opportunity and due time is given.
3. Mother tongue interferes the learning of second/foreign language.
4. Mother tongue helps in learning of second/foreign language.
Options 1. 1

2.2

3.3

4.4

Question Type : MCQ
Status : Answered
Chosen Option : 2

Q.27 Ateacher divided her class into groups of four and through brain storming and discussions, she assigned the groups
the themes on landscapes, buildings, and persons to collect ideas through questions and write a short report on them.
What is this task known as?

1. Project work

2. Assignment

3. Speaking and writing task
4. Excursion

Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 3




1. structural and linear
2. developmental

3. form focussed

4. language based
Options 1. 1

2.2

3.3

4.4

Q28  The process through which a learner learns reading is

Question Type : MCQ
Status : Answered
Chosen Option : 4

Q.29 When a child learns a language as a second or third language, it is assumed as

1. language acquisition
2. language abstraction
3. language growth
4. language learning
Options 1. 1
2.2
3.3
4.4

Question Type : MCQ
Status : Answered
Chosen Option : 4

‘prepositions’. What is this strategy known as?

1. Grammar teaching
2. Declarative knowledge
3. Consciousness raising
4. Play-way grammar

Options 1. 1
2.2
3.3
4.4

Q.30 Ateacher of class IV gave lots of sentences with words like “to” ‘in’ ‘into’ ‘with’ ‘for’ and then the learners noticed these
words which the teacher named them as ‘position’ words. Later she gave them some more sentences in which the
learners are asked to write these position words. At the end she told them that these words are known as

Question Type : MCQ
Status : Answered
Chosen Option : 1




